

(2)

Name: Ayan Databoosri P.

Matric No: 151EN07007

Department: Petroleum Engineering

Course: ENR301

$$\textcircled{1} \frac{d^2y}{dx^2} + 4\frac{dy}{dx} + 5y = 6\sin\theta$$

$$y'' + 4y' + 5y = 6\sin\theta$$

$$k^2 + 4k + 5 = 0$$

$$k^2 + 4k + 5 = -5$$

$$k^2 + 4k + (2)^2 = -5 + (2)^2$$

$$(k+2)^2 = -1$$

$$k+2 = \pm\sqrt{-1}$$

$$k+2 = \pm i$$

$$k_1 = -2 + i \text{ and } k_2 = -2 - i$$

$$y_h = C_1 e^{(-2+i)\theta} + C_2 e^{(-2-i)\theta}$$

$$y_h = C_1 e^{-2\theta} e^{i\theta} + C_2 e^{-2\theta} e^{-i\theta}$$

$$y_h = C_1 e^{-2\theta} e^{i\theta} + C_2 e^{-2\theta} e^{-i\theta}$$

$$y_h = e^{-2\theta} [C_1 e^{i\theta} + C_2 e^{-i\theta}]$$

$$y_p = A\cos\theta + B\sin\theta$$

$$y_p' = -A\sin\theta + B\cos\theta$$

$$y_p'' = -A\cos\theta - B\sin\theta$$

$$-A\cos\theta - B\sin\theta + 4(-A\sin\theta + B\cos\theta) + 5(A\cos\theta + B\sin\theta) = 6\sin\theta$$

$$\Rightarrow A\cos\theta - B\sin\theta - 4A\sin\theta + 4B\cos\theta + 5A\cos\theta + 5B\sin\theta = 6\sin\theta$$

$$4A\cos\theta + 4B\sin\theta - 4A\sin\theta + 4B\cos\theta = 6\sin\theta$$

$$(4A + 4B)\sin\theta + (4A + 4B)\cos\theta = 6\sin\theta$$

$$-4A + 4B = 6$$

$$4A + 4B = 0$$

$$8B = 6$$

$$B = \frac{6}{8} = \frac{3}{4}$$

$$4A = -4B$$

$$A = -B \quad A = -\frac{3}{4}$$

$$\therefore Y_p = -\frac{3}{4} \cos \theta + \frac{3}{4} \sin \theta$$

$$Y = Y_h + Y_p$$

$$Y = e^{2\theta} [A \cos \theta + B \sin \theta] + \frac{3}{4} \sin \theta - \frac{3}{4} \cos \theta$$

ii.) Steady state equation
 $Y_p = 0$

$$Y_p' = \frac{3}{4} \cos \theta + \frac{3}{4} \sin \theta = 0$$

$$\frac{3}{4} \cos \theta + \frac{3}{4} \sin \theta = 0$$

$$\frac{3}{4} \cos \theta = -\frac{3}{4} \sin \theta = 0$$

$$\cos \theta = -\sin \theta$$

$$\frac{\sin \theta}{\cos \theta} = -\frac{\cos \theta}{\cos \theta}$$

$$\tan \theta = -1$$

$$EI \frac{d^2 y}{dx^2} = \frac{w}{2} (L-x)^2$$

$$EI m^2 = 0$$

$$m^2 = 0$$

$$m = \pm \sqrt{0}$$

$$m = \pm 0$$

$$Y = e^{0x} [A + Bx]$$

$$Y = A + Bx$$

$$Y_p = Y = Fx^2 + 6x^3 + 4x^4$$

$$\frac{dy}{dx} = 2Fx + 18x^2 + 16x^3$$

$$\frac{d^2 y}{dx^2} = 2F + 36x + 48x^2$$

$$EI [2F + 36x + 48x^2] = \frac{w}{2} (L-x)^2$$

$$2FEI + 36EIx + 48EIx^2 = \frac{w}{2} (L-x)^2$$

$$4FEI + 2EI\alpha + 2\phi H = \omega(L^2 - 2\omega L + \alpha^2)$$

$$2\phi H + 2EI = \omega$$

$$H = \frac{\omega}{2}$$

$$12EI = -2\omega L$$

$$\epsilon_1 = \frac{-2\omega L}{12EI} = \frac{-\omega L}{6EI}$$

$$4FEI = \omega L^2$$

$$F = \frac{\omega L^2}{4EI}$$

$$y = \left[\frac{\omega L^2}{4EI} \right] x^2 - \left[\frac{\omega L}{6EI} \right] x^3 + \left[\frac{\omega}{24EI} \right] x^4$$

$$= \frac{\omega L^2 x^2}{4EI} - \frac{\omega L x^3}{6EI} + \frac{\omega x^4}{24EI}$$

$$= \frac{6\omega L^2 x^2 - 4\omega L x^3 + \omega x^4}{24EI}$$

$$= y = A + Bx + \frac{\omega}{24EI} (6L^2 x^2 - 4Lx^3 + x^4)$$

$$\text{at } y=0, x=0, \frac{dy}{dx} = 0$$

$$0 = A + B(0) + \frac{\omega}{24EI} (6L^2(0) - 4L(0) + 0)$$

$$A = 0$$

$$\frac{dy}{dx} = B + \frac{\omega}{24EI} [12Lx - 12Lx^2 + 4x^3]$$

$$0 = \frac{dy}{dx} = B + \frac{\omega}{24EI} [12L(0) - 12L(0) + 4(0)]$$

$$B = 0$$

$$y_p = \frac{\omega}{24EI} [6L^2 x^2 - 4Lx^3 + x^4]$$

$$y_p = \frac{\omega x^2}{24EI} [6L^2 - 4Lx + x^2]$$

$$y_p = \frac{\omega x^2}{24EI} [x^2 - 4Lx + 6L^2] \quad \text{when } x=L$$

$$Y_p = \frac{\omega l^2}{24EI} [l^2 - 4l^2 + 6l^2]$$

24

$$Y_p = \frac{\omega l^2}{24EI} [3l^2]$$

$$Y = \frac{\omega l^4}{8EI}$$

